
Endothelial nitric oxide synthase gene Glu298Asp polymorphism is associated with Behçet's disease

F. Oksel, G. Keser, M. Ozmen, K. Aksu, G. Kitapcioglu¹, A. Berdeli², E. Doganavsargil

Ege University School of Medicine,
Department of Internal Medicine, Division
of Rheumatology, Public Health¹ and
Molecular Medicine Research Lab²,
Bornova, Izmir, Turkey.

Fahrettin Oksel, MD, Associate Professor;
Gokhan Keser, MD, Professor; Kenan
Aksu, MD, Associate Professor; Mustafa
Ozmen, MD, Specialist; Gul Kitapcioglu,
MD, Specialist; Afig Berdeli, MD, Profes-
sor; Eker Doganavsargil, MD, Professor.

Please address correspondence to: Dr.
Fahrettin Oksel, Ali Cetinkaya Bulvari,
No:71/5, Alsancak, Izmir, Turkey.
E-mail: fahrettin.oksel@ege.edu.tr
agkkeser@gmail.com

Received on January 30, 2006; accepted
in revised form on May 25, 2006.

Clin Exp Rheumatol 2006; 24 (Suppl. 42):
S79-S82.

© Copyright CLINICAL AND EXPERIMEN-
TAL RHEUMATOLOGY 2006.

Key words: Behçet's disease,
endothelial nitric oxide synthase gene
(eNOS), single-nucleotide polymor-
phism.

ABSTRACT

Objective. The 894 G→T (Glu298Asp) polymorphism in exon 7 of the endothelial nitric oxide synthase (eNOS) gene was previously reported to be associated with Behçet's Disease (BD) susceptibility in Italian origin and Korean patients, but not in a group of unrelated Turkish patients. We analyzed whether this polymorphism is associated with BD, in another group of Turkish patients.

Methods. We studied 132 consecutive Turkish BD patients being followed up by Ege University Rheumatology Department and 91 healthy controls. All individuals were genotyped by PCR-RFLP for 894 G→T in exon 7 (Glu298Asp).

Results. The frequency of the T allele in BD group (101/264) was significantly higher than in healthy controls (OR 1.88, %95 CI 1.27-2.49, $p < 0.001$). The frequency of the homozygote (TT) Glu298Asp polymorphism in BD (27/132) was also significantly higher than in healthy controls (5/91) (OR 3.72, %95 CI 3.44-4.0, $p < 0.001$). However, no association was found between the Glu298Asp polymorphism and clinical parameters in BD.

Conclusions. In this study, we found that Glu298Asp polymorphism of the eNOS gene was associated with BD in Turkish patients.

Introduction

Behçet's disease (BD), which was first described as the triple symptom complex of recurrent oral and genital ulcers and iritis, is a unique systemic vasculitis, which affects almost all types and sizes of blood vessels (1). Although the exact pathogenesis of BD is not known, it is believed to occur in the context of a susceptible genetic background under the influence of various environmental factors, especially microbial pathogens (1, 2). The immunological abnormali-

ties in BD may be summarized as hyperreactivity of neutrophils, overexpression of several proinflammatory and Th1-type cytokines and several phenotypic and functional lymphocyte abnormalities (2).

Thrombotic tendency is also a well known feature in BD (1, 2). Although hypercoagulable/prothrombotic state may also be important in developing thrombosis, endothelial cell dysfunction (ECD) is accepted as the main immune-mediated factor causing thrombosis in BD (1-5). ECD is a physiological phenomenon which basically reflects impaired flow-mediated dilatation of brachial arteries, mostly due to reduced nitric oxide (NO) levels (6). NO is the most powerful endogenous vasodilator known, and is enzymatically synthesized by normal endothelium, from L-arginine with the catalytic help of endothelial nitric oxide synthase (eNOS) (7, 8). In the presence of endothelial injury, as in the case of systemic vasculitis, NO production will be reduced, causing impaired flow-mediated dilatation (6-8). So, reduced plasma NO levels reported in active BD (9), may contribute to the endothelial abnormalities and thrombotic tendency observed in BD.

Although increased intravascular oxidative stress and consumption of NO may contribute to the reduced NO levels in BD, polymorphisms in the eNOS gene may also play a role (10). From this standpoint, well-known eNOS gene polymorphisms in BD had already been investigated in previous studies (10-12). Among these, Glu298Asp polymorphism in exon 7 of the eNOS gene was found to be significantly associated with BD patients from Italy (11) and Korea (12). However similar association could not be found in a group of Turkish BD patients (10). In this study, we aimed to investigate the association of Glu298Asp polymor-

phism in exon 7 of the eNOS gene once again, in another group of Turkish BD patients, as well as to find out whether this polymorphism was correlated with clinical parameters.

Materials and methods

Study population

We studied 132 consecutive Turkish BD patients (M/F:73/59; mean age 38.3 ± 8.7 years), being followed up Ege University Rheumatology department and all fulfilling the International Study Group (ISG) criteria (13). Ninety one healthy controls with no history or signs of BD or recurrent oral ulceration were also included in this study. Both the Behçet’s patients and healthy controls were Turkish, residing in Turkey for at least one generation. All the Behçet’s patients were unrelated. The ethical committee of Ege University Faculty of Medicine approved the study, and all individuals provided informed consent prior to blood collection.

In Behçet’s patients, the presence of at least one of the following clinical findings including eye involvement, deep vein thrombosis, large vessel involvement and central nervous system involvement was accepted as major organ involvement.

Genotyping

The study group was genotyped for the missense single-nucleotide polymorphism (SNP) of 894 G→T in exon 7 (Glu298Asp) by using the PCR-Restriction Fragment Length Polymorphism (PCR-RFLP) technique (11-14). Each amplification was performed using 250 ng of genomic DNA in a total volume of 50 BL containing 1.5 U AmpliTaq DNA polymerase (Perkin-Elmer), 20 pmol of each primer and 200 nmol of each dNTP on a Perkin-Elmer 9600 Thermal Cycler (Amplify Cycle, Perkin-Elmer, Roche Molecular Systems, NJ, USA) under the following conditions: The initial denaturation was made at 94°C for 2 minutes followed by 35 cycles at 94°C for 30 seconds, 61°C for 30 seconds and at 72°C for 30 seconds. The final extension step was prolonged to 5 minutes. Genotyping the polymorphism 894 G→T was

Table I. Allele and genotype frequencies of the Glu298Asp polymorphism in exon 7 of the eNOS gene in patients with Behçet’s disease and healthy controls.

ENOS +894	Alleles % (n)		Genotypes % (n)		
	G	T	GG	GT	TT
Patients (n=132)	62 (163)	38 (101)	44 (58)	36 (47)	20 (27)
Controls (n=91)	80 (145)	20 (37)	65 (59)	29 (27)	6 (5)

Results

The allele and genotype frequencies of the 894 G→T (Glu298Asp) polymorphism in exon 7 of the eNOS gene both in BD patients and healthy controls are reported in Table I. The statistical power was found to be 89% and 88% for the allele and genotype analysis, respectively. The allelic distribution in healthy controls was in Hardy-Weinberg equilibrium; however Hardy-Weinberg equilibrium was not detected in BD patients. The overall distribution of the Glu298Asp polymorphism genotypes differed significantly between the BD group and healthy controls ($p = 0.000001$). This was reflected in increases in the frequency of the T allele, the homozygote TT genotype and the heterozygote GT genotype in BD group ($p = 0.001$). The frequency of the T allele in BD group (101/264) was significantly higher than in healthy controls (37/182) (OR 1.88, 95% CI 1.27-2.49, $p < 0.001$). The frequency of the homozygote Glu298Asp polymorphism in BD (27/132) was significantly higher than in healthy controls (5/91) (OR 3.72, 95% CI 3.44-4.0, $p < 0.001$). Similarly, the frequency of the heterozygote Glu298Asp polymorphism in BD (47/132) was significantly higher than in healthy controls (27/91) (OR 1.2, 95% CI 0.55-1.85, $p < 0.001$). The frequency of Asp298 was significantly higher in BD patients (74/132) than in controls (32/91). The frequency of Glu298 was significantly lower in BD patients (105/132) than in controls (86/91) ($p = 0.000001$).

No significant association was found between the Glu298Asp polymorphism and the presence of major organ involvement in BD. Similarly, the frequencies of the Glu298Asp polymorphism between different subgroups of Behçet’s patients, or between the patients with and without any particular manifestation of the disease, were

Statistical analysis

Statistical analysis was made using the statistical package program (SPSS 7.5). The frequencies of the alleles and genotypes among the patient and control groups were determined and were compared by chi-square and Fischer’s exact tests. Odds ratios were calculated together with their 95% confidence interval (CI). Corrected p values were calculated by multiplying p by the number of alleles compared. The distribution of the control and Behçet group genotypes was checked for Hardy-Weinberg equilibrium. Formal power calculations were made using Power and Precision Analysis 2 program (trial version).

not significantly different. The distribution of the genotype frequencies of Glu298Asp polymorphism in exon 7 of the eNOS gene in association with clinical characteristics of the Behçet's patients were given in Table II.

Discussion

In this study we found that Glu298Asp polymorphism in exon 7 of the eNOS gene was significantly associated with BD in a randomly selected group of Turkish patients. Differently from healthy controls, the lack of Hardy-Weinberg equilibrium in allelic distribution of BD patients also supports the finding of a BD-related allele in our study. To our knowledge, our study is the fourth one investigating the eNOS gene polymorphisms in BD (10-12). In the previous studies, Salvarini *et al.* (11) and Kim *et al.* (12) found that Glu298Asp polymorphism of the eNOS gene was associated with BD susceptibility in Italian and Korean patients, respectively. However, Karasneh *et al.* (10), could not confirm this association in Turkish Behçet's patients. They found no significant difference in the distribution of the allele and genotype frequencies of the Glu298Asp polymorphism between BD cases and controls, even when the family history was taken into consideration. So,

with regard to Glu298Asp polymorphism of the eNOS gene, our findings supported Salvarini *et al.* and Kim *et al.*, while disagreed with the findings of Karasneh *et al.* In consistent with the previous studies (11, 12), we also could not find any association between Glu298Asp polymorphism and clinical parameters in BD. However, we do accept that this lack of association may be due to the relatively limited number of our cohort.

Among the previous three studies investigating eNOS gene polymorphisms in BD, the study of Karasneh *et al.* differed from the others not only with the larger number of Behçet's patients included (193 Turkish patients versus 73 Italian and 65 Korean patients), but also with the number of the eNOS gene polymorphisms studied (10). In this study, in addition to missense SNP of 894 G→T in exon 7 (Glu298Asp), another SNP of -786 T→C in the promoter region and a variable number of tandem repeats (VNTR) polymorphism in intron 4 of the eNOS gene were also studied. As mentioned above, they found no association with Glu298Asp polymorphism. However, unlike the previous reports (11, 12), they found that the overall distribution of the 27 bp insertion/deletion VNTR polymorphism

genotypes in intron 4 was significantly higher in BD cases than in controls ($\chi^2 = 10.1$, $P = 0.006$) (10). Unfortunately, (due to technical and financial problems), we could not investigate intron 4 27 bp VNTR polymorphism in our study group, and we accept that this is an important limitation factor in our study. Another limitation of our study was the lack of HLA B51 analysis in BD group. Although in previous studies it has already been shown that Glu298Asp polymorphism was independent of HLA-B51 status in different populations (10-12), we could not investigate whether the same holds true or not in our study group.

eNOS gene polymorphisms may be functionally significant only if they cause altered function of this gene. Glu298Asp polymorphisms in exon 7 and VNTR polymorphism in intron 4 may lead to a change in eNOS expression and enzymatic activity, causing impairment of endothelial NO dependent flow mediated vasodilatation, which in turn contributes to the ECD seen in BD (14-17). Furthermore, the impaired production of basal NO and associated ECD may predispose to thrombosis or atherosclerosis related disorders (18). Recently, carotid artery intima-media thickness and plaque frequency in BD patients, as assessed by ultrasonography, were found to be increased compared with healthy controls (19). Although increased carotid IMT does not invariably mean atherosclerosis, together with the increased plaque frequency, mild to moderate atherosclerosis may develop during the course of BD (19).

With respect to impaired NO production, the significant association of Glu298Asp polymorphism with BD in Turkish patients, in parallel to the Italian and Korean BD patients, may have a clinical implication, as suggested by Tesauro *et al.* (20). These authors showed that this polymorphism generates protein products with differing susceptibility to cleavage. They demonstrated that the Asp298 variant was more susceptible to proteolytic cleavage than eNOS Glu298, and this might have contributed to abnormally low NO generation in carriers of the Asp variant

Table II. The distribution of the genotype frequencies of the Glu298Asp polymorphism in exon 7 of the eNOS gene in association with clinical characteristics of the patients with Behçet's disease.

Clinical Features	n (%)	GG	Genotypes n (%)	GT	TT
Oral ulcer	132 (100)	58 (43.9)	47 (35.6)	27 (20.5)	
Genital ulcer	119 (90.6)	51 (42.9)	43 (36.1)	25 (21)	
Acneiform lesions	114 (86.4)	48 (42.1)	40 (35.1)	26 (22.8)	
Erythema nodosum	94 (71.2)	46 (48.9)	26 (27.7)	22 (23.4)	
Positive pathology test	56 (42.4)	29 (51.8)	21 (37.5)	6 (10.7)	
Eye involvement	55 (41.7)	21 (38.2)	24 (43.6)	10 (18.2)	
Arthritis	40 (30.3)	15 (37.5)	15 (37.5)	10 (25)	
Deep vein thrombosis	34 (25.8)	16 (47.1)	14 (41.2)	4 (11.8)	
Superficial thrombophlebitis	32 (24.2)	14 (43.8)	14 (43.8)	4 (12.5)	
Large vessel involvement	17 (12.9)	9 (52.9)	6 (35.3)	2 (11.8)	
Epididymitis *	15 (20.5)	7 (46.7)	3 (20)	5 (33.3)	
Central nervous system involvement	9 (6.8)	4 (44.4)	4 (44.4)	1 (11.1)	
Major organ involvement **	76 (57.6)	32 (42.1)	30 (39.5)	14 (18.4)	

*The calculations for epididymitis were made on 73 male Behçet's patients only.

**The presence of at least one of the following clinical findings including eye involvement, deep vein thrombosis, large vessel involvement and central nervous system involvement was accepted as major organ involvement as indicated in the "materials and methods" section.

(20). However, since glutamate and aspartate are conservative substitutions, another possibility would be that this polymorphism serves as a marker for a functional effect elsewhere in the eNOS gene or in its vicinity (10, 11). So, we do accept that, the conservative substitution in exon 7 may not have a direct functional effect, but it may be in linkage disequilibrium with a regulatory polymorphism on the same haplotype. On the other hand, based on their findings of increased frequency of the promoter region -786*T and intron 4 VNTR*b haplotype in BD patients, Karasneh *et al.* suggested that the regulatory polymorphism may be located on this particular haplotype (10). The controversial findings of the studies investigating the possible association of eNOS gene polymorphisms with BD, may be explained in several ways (14-17, 21, 22). Firstly, the characteristics of the haplotype having the regulatory polymorphism(s) may show differences between different ethnic populations. Secondly, apart from different associations between haplotypes and regulatory polymorphisms, various environmental factors, which affect the level of oxidative stress, may also modify the phenotypic expression potentials of the DNA variants in the eNOS gene, making functional studies of the eNOS gene more difficult to conduct (10). Thirdly, despite the proposed pathogenic mechanisms, the functional significance of eNOS polymorphisms is still unclear. Further studies connecting the eNOS gene polymorphisms in BD with the transcription of eNOS enzyme and function and activity of NO, as well as with the ECD, are clearly needed.

In conclusion, polymorphisms in genes encoding for host effector molecules, including eNOS may have a supplementary role in disease susceptibility and/or severity in BD (23). Although

the type of SNP might be different, eNOS gene polymorphism in BD has been a common finding in all the studies including our study. Since the functional relevance of these SNPs could not be proven yet, the real functional gene polymorphism may simply be in linkage disequilibrium with the previously found SNPs. Our study shows that, despite the presence of genetic differences, eNOS gene polymorphism seems to be conserved in another randomly selected group of Turkish BD patients.

References

1. YAZICI H, YURDAKUL S, HAMURYUDAN V, HOCHBERG MC, SILMAN AJ, SMOLEN JS, WEINBLATT ME, WEISMAN MH (Eds): *Rheumatology*. London: Mosby, 3rd edition, 2003; 1665-9.
2. GUL A: Behçet's disease: an update on the pathogenesis. *Clin Exp Rheumatol* 2001; 19: S6-12.
3. CHAMBERS JC, HASKARD DO, KOONER JS: Vascular endothelial function and oxidative stress mechanisms in patients with Behçet's syndrome. *J Am Coll Cardiol* 2001; 37: 517-520.
4. PROTOGEROU A, LEKAKIS I, STAMATELOPOULOS K *et al.*: Arterial wall characteristics in patients with Adamantiades-Beçet's disease. *Adv Exp Med Biol* 2003; 528: 399-404.
5. KAYKIOGLU M, AKSU K, HASDEMİR C *et al.*: Endothelial functions in Behçet's disease. *Rheumatol Int* 2006; 26: 304-308.
6. BACON PA: Endothelial cell dysfunction in systemic vasculitis: new developments and therapeutic prospects. *Curr Opin Rheumatol* 2003; 17: 49-55.
7. MONCADA S, PALMER RM, HIGGS EA: Nitric oxide: physiology, pathophysiology, and pharmacology. *Pharmacol Rev* 1991; 43: 109-42.
8. WANG Y, MARSDEN PA: Nitric oxide synthases: biochemical and molecular regulation. *Curr Opin Nephrol Hypertens* 1995; 4: 12-22.
9. OREM A, VANIZOR B, CIMSIT G, KIRAN E, DEGER O, MALKOC M: Decreased nitric oxide production in patients with Behçet's disease. *Dermatology* 1999; 198: 33-6.
10. KARASNEH JA, HAJEER AH, SILMAN A, WORTHINGTON J, OLLIER WER, GÜL A: Polymorphisms in the endothelial nitric oxide synthase gene are associated with Behçet's disease. *Rheumatology* 2005; 44: 614-7.
11. SALVARANI C, BOIARDI L, CASALI B *et al.*: Endothelial nitric oxide synthase gene polymorphisms in Behçet's disease. *J Rheumatol* 2002; 29: 535-40.
12. KIM JU, CHANG HK, LEE SS, KIM JW, LEE SW, CHUNG WT: Endothelial nitric oxide synthase gene polymorphisms in Behçet's disease and rheumatic diseases with vasculitis. *Ann Rheum Dis* 2003; 62: 1083-7.
13. INTERNATIONAL STUDY GROUP FOR BEÇET'S DISEASE: Criteria for diagnosis of Behçet's Disease. *Lancet* 1990; 335: 1078-80.
14. SHIMASAKI Y, YASUE H, YOSHIMURA M, *et al.*: Association of the missense Glu298Asp variant of the endothelial nitric oxide synthase gene with myocardial infarction. *J Am Coll Cardiol* 1998; 31: 1506-10.
15. ICHIHARA S, YAMADA Y, FUJIMURA T, NAKASHIMAN, YOKOTA M: Association of a polymorphism of the endothelial constitutive nitric oxide synthase gene with myocardial infarction in the Japanese population. *Am J Cardiol* 1998; 81: 83-6.
16. ISHIGAMI T, TAMURA K, FUJITA T *et al.*: Endothelial nitric oxide synthase gene polymorphism and acute myocardial infarction. *Hypertension* 1998; 32: 521-6.
17. HINGORANI AD, LIANG CF, FATIBENE J *et al.*: A common variant of the endothelial nitric oxide synthase (Glu298→Asp) is a major risk factor for coronary artery disease in the UK. *Circulation* 1999; 100: 1515-20.
18. WANG XL, WANG J: Endothelial nitric oxide synthase gene sequence variations and vascular disease. *Mol Genet Metab* 2000; 70: 241-51.
19. TESAURIO M, THOMPSON WC, ROGILIANI P, QI L, CHAUDHARY PP, MOSS J: Intracellular processing of endothelial nitric oxide synthase isoforms associated with differences in severity of cardiopulmonary diseases: cleavage of proteins with aspartate vs. glutamate at position 298. *Proc Natl Acad Sci USA* 2000; 97: 2832-5.
20. KESER G, AKSU K, TAMSEL S *et al.*: Increased thickness of the carotid artery intima-media assessed by ultrasonography in Behçet's disease. *Clin Exp Rheumatol* 2005; 23 (Suppl. 38): S71-6.
21. NAKAYAMA M, YASUE H, YOSHIMURA M *et al.*: T-786→C mutation in the 50-flanking region of the endothelial nitric oxide synthase gene is associated with coronary spasm. *Circulation* 1999; 99: 2864-70.
22. SIM AS, WANG J, WILCKEN D, WANG XL: MspI polymorphism in the promoter of the human endothelial constitutive NO synthase gene in Australian Caucasian population. *Mol Genet Metab* 1998; 65:2.
23. FIETTA P: Behçet's disease: Familial clustering and immunogenetics. *Clin Exp Rheumatol* 2005; 23 (Suppl. 38): S96-S105.